
QUIZ 10    MATH 161  Thompson 

1) 

    
𝑙𝑜𝑔424)

𝑙𝑜𝑔46
= 𝑙𝑜𝑔44 = 1 

  

2)  

     𝑙𝑜𝑔3𝑥4 = −4  

            3-4 = x4  x =  
1

3
 

3)  

 

    

4)  

     log10 x(x+99) = 2 

     x2 +99x = 102 

     x2 +99x – 100 = 0 

     (x+99)(x-1) = 0 

     x = -99, 1 

5)  

 

 

6)  

    𝑙𝑜𝑔84 ∙ 2 = 𝑥 

    𝑙𝑜𝑔88 = 𝑥  x = 1 

  



7)     

 

 

8)   

 

9)  

 

 log5 (x+4)(x+3) = 2 foil (x+4)(x+3)=52 

     x2 +7x + 12 = 25 

     x2 +7x – 13 = 0 

         
−7+√101

2
 only positive answer 

  plug into calculator 
−7+√101

2
  =1.525 

 

10)   

 

11)    

12) 

 

 

13) 

 



14)  

     log9 √𝑥 = log942 

     √𝑥 = 16 square both sides 

     x = 256 

 

15) 

    log153(9∙17) 

    log153153 = 1 

16)  

 

17)  

 

   lnx(x+8) = 4 x2 + 8x = e4 

     x2 + 8x = e4 

     x2 +8x – e4 = 0 

         
−8±√64−4(𝑒4)

2
  

  factor out a 4 inside radical  
−8+√4(16+𝑒4)

2
   

  take square root of 4 
−8+2√16+𝑒4

2
   

   reduce  −4 + √16 + 𝑒4        

   plug into calculator  =4.402 
 

 



18) 

   lnx(x+4) = 3 x2 + 4x = e3 

     x2 + 4x = e3 

     x2 +4x – e3 = 0 

         
−4±√16−4(𝑒4)

2
  

  factor out a 4 inside radical  
−4+√4(4+𝑒3)

2
   

  take square root of 4 
−4+2√4+𝑒3

2
   

   reduce  −2 + √4 + 𝑒3        

   plug into calculator  =2.908 
 

19)   ln x + ln(x+10) = 3 

   lnx(x+10) = 3     x2 + 10x = e3 

         x2 + 10x = e3 

        x2 +10x – e3 = 0 

         
−10±√100−4(𝑒4)

2
  

  factor out a 4 inside radical  
−10+√4(25+𝑒3)

2
   

  take square root of 4 
−10+2√25+𝑒3

2
   

   reduce  −5 + √25 + 𝑒3        

   plug into calculator  =1.715 
 



20)    ln x + ln(x+2) = 3 

   lnx(x+2) = 3     x2 + 2x = e3 

         x2 + 2x = e3 

        x2 +2x – e3 = 0 

         
−2±√4−4(𝑒4)

2
  

  factor out a 4 inside radical  
−2+√4(1+𝑒3)

2
   

  take square root of 4 
−2+2√1+𝑒3

2
   

   reduce  −1 + √1 + 𝑒3        

   plug into calculator  =3.592 
 

21)   ln x + ln(x+6) = 4 

   lnx(x+6) = 4 x2 + 6x = e4 

     x2 + 6x = e4 

     x2 +6x – e4 = 0 

         
−6±√36−4(𝑒4)

2
  

  factor out a 4 inside radical  
−6+√4(9+𝑒4)

2
   

  take square root of 4 
−6+2√9+𝑒4

2
   

   reduce  −3 + √9 + 𝑒4        

   plug into calculator  =4.975 


